INSTRUCTION MANUAL

SCOPE OF MANUAL. This instruction manual covers the installation and operation of the Kepco Front Panel Component,

KE pCO An ISO 9001 Company.

TEST POINT PAIRS, ADJUSTABLE
TRIMMERS AND LEDS

Models MSP 24-3, MSP 25-3, MSP 26-3 and MSP 27-3.

DESCRIPTION. Kepco Models MSP 24-3 through 27-3 are 3/8 rack panels containing four (MSP 24-3), five (MSP 25-3), six
(MSP 26-3) or seven (MSP 27-3) sets of test point pairs, adjustable trimmers and LEDs. They provide front panel monitoring
and adjustment of DC Output voltage and a power ON indication for four to seven power supplies installed in the rack assembly.

INSTALLATION. To make this unit functional, components have to be mounted on the PC Board and the PC Board/Panel

FRONT PANEL COMPONENT

MSP 24-3
MSP 25-3
MSP 26-3
MSP 27-3

assembly has to be attached to the rack adapter with supplied hardware. See Figure 2 for wiring information.

1. Separate PC board from panel (see Figure 1) by removing two 6-32 X 5/16 screws (P/N 101-0015) and associated washers
(P/N 103-0015).

2. Table 1 contains variable resistor values (R1A through R7A, Figure 3) to be used with different types of power supplies. For

power supplies not listed in the table, consult factory. Refer to Figure 2 and install selected variable resistors.

TABLE 1. VARIABLE RESISTORS
MODEL DESCRIPTION | KEPCO PN MODEL DESCRIPTION KEPCO PN
RAX SERIES 5K, 10%, 1W 115-2724 ~ ERX 5-6 1K, 10%, 1W 115-2725
FAW 5-10K 200, 10%, 1W 115-2734 * ERX 12-2.5 10K, 10%, 1W 115-2727 *
FAW 12-4.2K 1K, 10%, 1W 115-2725* ERX 15-2 10K, 10%, 1W 115-2727 *
FAW 15-3.4K 1K, 10%, 1W 115-2725 * ERX 24-1.3 20K, 10%, 1W 115-2735 *
FAW 24-2.1K 2K, 10%, 1W 115-2726 * ERX 5-12 5K, 10%, 1W 115-2724 *
FAW 48-1K 2K, 10%, 1W 115-2726 * ERX 12-5 20K, 10%, 1W 115-2735 *
FAW 5-20K 200, 10%, 1W 115-2734 * ERX 15-4 20K, 10%, 1W 115-2735 *
FAW 12-8.3K 1K, 10%, 1W 115-2725 * ERX 24-2.5 25K, 10%, 1W 115-2736 *
FAW 15-6.6K 1K, 10%, 1W 115-2725 ERX 5-24 5K, 10%, 1W 115-2724 *
FAW 24-4.2K 2K, 10%, 1W 115-2726 * ERX 12-10 20K, 10%, 1W 115-2735 *
FAW 28-3.5K 2K, 10%, 1W 115-2726 * ERX 15-8 20K, 10%, 1W 115-2735 *
FAW 48-2K 2K, 10%, 1W 115-2726 * ERX 24-5 25K, 10%, 1W 115-2736 *
FAW 5-30K 200, 10%, 1W 115-2734 * ERX 5-48 5K, 10%, 1W 115-2724 *
FAW 12-12K 1K, 10%, 1W 115-2725 * ERX 12-20 20K, 10%, 1W 115-2735 *
FAW 15-10K 1K, 10%, 1W 115-2725 ERX 15-16 20K, 10%, 1W 115-2735
FAW 24-6K 2K, 10%, 1W 115-2726 * ERX 24-10 25K, 10%, 1W 115-2736 *
FAW 28-5K 2K, 10%, 1W 115-2726 *
FAW 48-2.8K 2K, 10%, 1W 115-2726 *
* BOURNS, INC.,TYPE 3252W

KEPCO, INC. @ 131-38 SANFORD AVENUE @ FLUSHING, NY. 11352 U.S.A. @ TEL (718) 461-7000 @ FAX (718) 767-1102
http://www.kepcopower.com @ email: hgq@kepcopower.com

©2004, KEPCO, INC

Data subject to change without notice

228-0965




COVER, AMP 640551-8 ——_
(KEPCO P/N 189-0503)

PLUG, AMP 640428-8 o2
(KEPCO P/N 143-0341 (P1) 2

COVER, AMP 640551-8

=
(KEPCO P/N 189-0503) %
PLUG, AMP 640428—8 o
(KEPCO P/N 143-0341 (P2) 2

COVER, AMP 1-640551—2
(KEPCO P/N 189-0504)

PLUG, AMP 1-640428—2
(KEPCO P/N 143-0342) (P3)

NOTE o2
FOR CONNECTIONS TO PLUGS 143—0341,
AND —0342 USE #22 AWG WIRE AND
AMP TOOL 59804-1.

(IF AMP TOOL IS NOT AVAILABLE, USE
SMALL SLOT BLADE SCREWDRIVER).

(7) RED WIRES

NOTE:

SOLDER RED & BLACK WIRES FROM

PCB TO RED & BLACK TEST JACKS
(SEE DETAIL ”A”)

DETAIL "A”
PANEL R

pce b1d

e
o020
e

o030

(7) RED TEST JACKS
(7) BLACK TEST JACKS

(SEE DETAIL "A”)

U

SCREW, 632 X 5/16 ST., BHSL
(KEPCO P/N 101-0015)

WASHER, #6 INT. LOCK
(KEPCO P/N 103-0015)

PCB ASSEMBLY
(SEE FIG. 2 & 3)

SPACER, #6—32 X 1/2 LONG, HEX

(KEPCO P/N 104—0027)
FRONT PANEL

(KEPCO P/N 131-0837)
MOUNT TO RACK WITH:

SCREW, 6—32 X 3/8 ST., BHPH
(KEPCO P/N 101-0156)
WASHER, #6 NYLON

(KEPCO P/N 103-0107)

0M§ 0 )
o 9 P
g w2y f Y
(7) BLACK WIRES ) g 0 5 0
(SEE DETAIL "A") N ® @, 0 6 WASHER, #6 NYLON
N @ ey o % (KEPCO P/N 103-0107)
N ® G 0 SCREW, 6—32 X 3/8 ST., BHPH
%% ® g b o ~ /(KEPCO P/N 101-0156)
~ e !
& Ke) gggﬁﬁ
0
SE MFG. HARDWARE L— TEST JACK, RED
TO MOUNT ALL (KEPCO P/N 173—0001)

3042773 BINDING POSTS. L— TEST JACK, BLACK
(KEPCO P/N 173-0002)
FIGURE 1. ASSEMBLY INSTRUCTIONS
PC BOARD, — "
(KEPCO P/N 167—0978) (7) #22-RD , 1 1/2 &ONG CATHODE NOTCH
(7) #22-BK , 2" LONG (SHORT LEAD)
CONNECTOR, 6 PIN
AMP 640445—-8 DS1-DS7, LED GN
(KEPCO P/N 142-0285) (KEPCO P/N 153-0094)
LED SPACER
(KEPCO P/N 108—0222)
OOORWB i oo JWO/ RZ}A . 9870@/ o [}
[¢] e} o Q 1) o
F__IR6A bse O
o0 o 6o o ©O0000000000O0
e DR oo B36 FIRSA bss (O
0—@ O ooooooao o ° ° °©
R3C o o
o G Ioo 0 40 5 R4A DS4 o o
R1B,C — R7B,C —) G O
hag ™) R4C 556 o o 00000000
OOOREBB J3 oo o o DS3 @ o o
DETAIL RZC 00DO0OD0DO0ODO0DO0OO0OOOoOOaOo OOR3A ©
L 1
coo 5 7o o 3 o DS2 o ©
—) B ‘o 66\ Y @
R7C o o o O o©0ooocoo0o0o0
coo L0} /%}(9\900 5 76 FJRIA DS1 @ o o
R1B—R7B, MOLDED JUMPER
(SEE DETAIL) COMPONENT SIDE FOIL SIDE
(KEPCO P/N 172—0298)
SEE DETAIL CONNECTOR, 6 PIN
AMP 1-640445—2
(R1B.C THRU R7B.C)  (KEpco P/N 142-0286)
NOTE: FOR "MSP 24—3" USE ONLY CIRCUITS No. 2, 3, 4, 5.
FOR "MSP 25-3" USE ONLY CIRCUITS No. 2, 3, 4, 5, 6.
FOR "MSP 26—3" USE ONLY CIRCUITS No. 1, 2, 3, 4, 5, 6.

5042775

s s s s

FIGURE 2. COMPONENT LOCATIONS

KEPCO, INC. @ 131-38 SANFORD AVENUE @ FLUSHING, NY. 11352 U.S.A. @ TEL (718) 461-7000 @ FAX (718) 767-1102
http://www.kepcopower.com @ email: hg@kepcopower.com

228-0965 040604



Calculate the value (in ohms) of resistors R1C through R7C, with respect to the power supply voltage (V) and the operat-
ing characteristics of the LED (DS1 through DS7). Refer to Table 2 for resistor values and Kepco part numbers associated

with standard Kepco power supply output voltages.

where V|, = voltage across resistor/LED network (power supply output voltage)
where V = forward voltage across LED (approximately 2V)
where Ig = forward current across LED (approximately 20mA)

The following is an example for a resistor value associated with a 5 volt power supply:

vV -V
resistor value (in ohms) Rn=R_= -2 F _3V-2V _ 150 ohms
n IF 20mA

Calculate the power rating (in watts) as follows:
P
W, = 2 xIp x (Vn—VF) = 2x20mA X (5V-2V) = 0.12W

* use nearest larger standard size (1/4 or 1/2 Watt).

TABLE 2. KEPCO MSP SERIES LED PANELS, RESISTOR SELECTION

OUTPUT VOLTAGE RESISTOR KEPCO P/N
2V 10Q, 5%, 1/2W 115-2643
5V 150Q, 10%, 1/2W 115-0543
Vv 390Q, 5%, 1/2W 115-0883
12v 560Q, 5%, 1/2W 115-0888
15V 750Q, 5%, 1W 115-2438
24V 1.1KQ, 5%, 1W 115-0545
28V 1.5KQ, 10%, 1W 115-0664
48V 2.7KQ, 10%, 2W 115-2465

Install selected resistor in place (see Figure 2).
Solder all resistors installed.
Reassemble unit (see Figure 1).

Attach the PC Board/Panel assembly to the rack adapter with supplied hardware, four 6-32 x 3/8” screws (Kepco P/N 101-
0156) and nylon washers (Kepco P/N 103-0107).

o > 0D

KEPCO, INC. @ 131-38 SANFORD AVENUE @ FLUSHING, NY. 11352 U.S.A. @ TEL (718) 461-7000 @ FAX (718) 767-1102
http://www.kepcopower.com @ email: hg@kepcopower.com
040604 228-0965 3



SCHEMATIC DIAGRAM

PCB ([Pt
TPI(+) |
‘£2
PW‘ (J1) rR1B R1IC 17 |
1§ 4
\
s‘f R1A DST | TP1(—) }
\
[ P2(+) }
Y
} +6
\
‘L R2B R2C 17 |
51 p8
7% R2A DS2 |TP2(-) }
TP3(+)(12)] P2
S W
P2 %2
(J2) r38 i RIC 7~ \
[ b4
\
3‘2 R3A DS3 | TP3(—) }
} TP4(+) }
S S
} L6
‘ R4B RAC L~ }
5% »8
\
71 R4A DS4 | TP4(-) }
[ J3)| P3
TP5(+)< ) ‘
2
P3| (J3) b
‘ R5B RSC 1~ }
1¢ T4
\ R5A -
3 DS5 | TP5(-) }
\
\ PE(+) ||
} }10
‘ R6B R6C 1~ \
9l L2
f \
! R6A DS6 | TPB(—) |
f \
} 7(+) ||
| to
[ R7B R7C AL~ |
5‘k +8
\
7% R7A DS7 |TP7(-) |,
|
NOTE: FOR "MSP 24—3" USE ONLY CIRCUITS No. 2, 3, 4, 5
FOR "MSP 25—3” USE ONLY CIRCUITS No. 2, 3, 4, 5, 6.
FOR "MSP 26—3" USE ONLY CIRCUITS No. 1, 2, 3, 4, 5, 6
RECOMMENDED WIRING
PCB (J1)|Pt
TP1(+)
POWER SUPPLY ———————©° 2
P1|(J1) \
” R1B RIC 1~ Iy ‘
+S | TW " (D4 +S
3] R1A DS1_|TP1() }
+ ' | (2d +
‘ LOAD
_ @. _
s T T~ — (oA —s
TWISTED PAIR TWISTED PAIR
AWG #22 AWG #22

3042774

FIGURE 3. SCHEMATIC/WIRING DIAGRAM

KEPCO, INC. @ 131-38 SANFORD AVENUE @ FLUSHING, NY. 11352 U.S.A. @ TEL (718) 461-7000 @ FAX (718) 767-1102
http://www.kepcopower.com @ email: hg@kepcopower.com
228-0965 040604



	Scope Of Manual.
	Description.
	Installation.
	TABLE 1. Variable Resistors
	FIGURE 1. Assembly Instructions
	FIGURE 2. Component Locations
	TABLE 2. Kepco Msp Series LED Panels, Resistor Selection
	FIGURE 3. Schematic/wiring Diagram

